Name Date

MONEY RIDDLES 3

Use the clues to find the correct set of coins from the 6 possibilities.

CHALLENGE A

| have more than 2 coins.

My highest value coin is not 50p.

| am worth more than 40p.
e Two of my coins have the same value.
Who am I?

e | am worth more than 30p.

None of my coins has the same value.

| am worth an even amount of money.
e The amount of money | am worth is in the 10 times table.

Who am I?
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Name Date

MONEY RIDDLES 3 ANSWERS
CHALLENGE A

e | have more than 2 coins.
e My highest value coin is not 50p.
e | am worth more than 40p.

e Two of my coins have the same value.
Who am I? Answer: 5) 50p
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e | am worth more than 30p.

None of my coins has the same value.

| am worth an even amount of money.
e The amount of money | am worth is in the 10 times table.

Who am I? Answer: 6) £1.10
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